
 IB Mathematics SL & HL  

Equations of Lines 

Increasing Level of Difficulty

1. Show that the point with position vector
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.        [ no calculator ] 

2. Write the equation of the line 2 3 7x y   in vector equation form of a line; that is,

in the form r a bt
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[ no calculator ] 

3. The two lines with vector equations
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intersect at point P.  Find the coordinates of P.  [ no calculator ] 

4. Find the two points on the line with Cartesian equation
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which are a distance of 5 units from the origin.  [ no calculator ] 




